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QUESTION 1

Which protocol can be used to encrypt packets on the Internet? 

A. SNMP 

B. HTTPS 

C. TFTP 

D. HTTP 

Correct Answer: B 

HTTPS, which stands for Hypertext Transfer Protocol Secure, makes it more difficult for hackers, the NSA, and others to
track users. The protocol makes sure the data isn\\'t being transmitted in plain-text format, which is much easier to
eavesdrop on. 

 

QUESTION 2

Which of the following uses pointer records and A records? 

A. IDS 

B. DNS Server 

C. NAT Server 

D. IPS 

Correct Answer: B 

DNS records include: 

*

 A Address record 

*

 PTR Pointer record 

 

QUESTION 3

This question requires that you evaluate the underlined text to determine if it is correct. 

Plain old telephone service (POTS), most ISDN lines, and switched T1 lines are all examples of "Message Switching". 

Select the correct answer if the underlined text does not make the statement correct. Select \\'No change is needed\\'\\'
if the underlined text makes the statement correct. 
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A. Circuit Switching 

B. Packet Switching 

C. FDDI Switching 

D. No change is needed 

Correct Answer: A 

*

 Examples of circuit-switched networks Public switched telephone network (PSTN) ISDN B-channel 

*

 You can get a circuit-switched T1, while frames clouds on T1s are usually packet-switched. 

 

QUESTION 4

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area: 

Correct Answer: 
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QUESTION 5

In local area network (LAN) topologies, the primary media access methods are: (Choose two.) 

A. Contention 

B. Negotiation 

C. Kerberos 

D. Token passing 

Correct Answer: AD 

Media contention occurs when two or more network devices have data to send at the same time. Because multiple
devices cannot talk on the network simultaneously, some type of method must be used to allow one device access to
the network media at a time. This is done in two main ways: carrier sense multiple access collision detect (CSMA/CD)
and token passing. 
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